Reverse Definite Integral of Algebraic Functions

Yogesh Mahat¹

¹ Department of Mathematics, Kathmandu BernHardt Secondary School, Kathmandu, Nepal

Correspondence: Yogesh Mahat, Department of Mathematics, Kathmandu BernHardt Secondary School, Kathmandu, Nepal. E-mail: yogesh.mahat108@gmail.com

Received: September 7, 2017	Accepted: October 10, 2017	Online Published: November 17, 2017
doi:10.5539/jmr.v10n1p25	URL: https://doi.org/10.5539/jmr.v10n1p25	

Abstract

In this work, an algebraic function is considered and integrated the function with some particular boundaries to obtain the area. Through the help of the area obtained and given boundaries, we determined different functions of different degree. Also, found a relationship between them.

Keywords: Degree, Area, Integration, Upper bound, Lower bound, Function, Reverse etc.

1. Introduction

We consider a function and boundaries with x-axis and calculate the area occupied by that function. What would be the case if we go reverse of it? We mean, we are given area and boundaries, can we predict the function? In my opinion yes we can predict the function. But, the degree of the function will be in our own decision. Assuming fixed area and boundaries, we are finding different functions. What can be the relationship between those functions? What can be the good interpretation of this? What may be the application of this approach?

2. Determination of Functions

In general any algebraic functions can be in the form of:

 $y = mx^{z} + c$ where, m = Slope or coefficientz = Degree of the functionc = ConstantIn the above function $y = mx^{z} + c$, when z = 1 $v = mx^1 + c$ \Rightarrow Area = $\int_0^7 y.dx$ \Rightarrow Area = $m \left[\frac{x^2}{2} \right]_0^7 + 7c$ \therefore Area = 24.5 × m + 7c Now. Consider Area = $24.5 \times m + 7c$ Boundaries with x-axis: (0, 0) - (7, 0)Function=?? Let one degree function be y = mx + c then, $\int_{0}^{7} y dx = m \left[\frac{x^2}{2} \right]_{0}^{7} + 7c$ $\therefore Area = m \left[\frac{x^2}{2}\right]_0^7 + 7c$ $\Rightarrow 24.5 \times m + 7c = m \left[\frac{x^2}{2}\right]_0^7 + 7c$, which is true. Again, $\frac{d\frac{x^2}{2}}{dx} = \frac{1}{2} \cdot 2x = x$ \therefore y = mx + c i.e the required one degree function is y = mx + c Similarly, let two degree function be $y = mx^2 + c$ then

$$\int_{0}^{7} y dx = m \left[\frac{x^{3}}{3} \right]_{0}^{7} + 7c$$

$$\therefore Area = m \left[\frac{x^{3}}{3} \right]_{0}^{7} + 7c$$

$$\Rightarrow 24.5 \times m + 7c = m \left[\frac{x^{3}}{3} \right]_{0}^{7} + 7c$$

$$RHS = m \left[\frac{x^{3}}{3} \right]_{0}^{7} + 7c$$

$$= \frac{7^{3}}{3}m + 7c$$

= $114.33 \times m + 7c$ (which is not equal to $24.5 \times m + 7c$)

Now, here m and 7c are common in both the result. Therefore, we will match the value by trying to reduce 114.33 to 24.5 and this can be done by either multiplying or dividing. We cannot match the value by addition or subtraction. It is because on derivative that will be zero.

Here, to get the actual result $(24.5 \times m + 7c)$ we will divide $(\frac{x^3}{3})$ by $\frac{114.3}{24.5} = 4.66$

i.e =
$$\frac{\frac{x^3}{4.66}}{= \frac{x^3}{13.99}} \approx \frac{x^3}{14}$$

 $\therefore y = m \frac{d\frac{x^3}{14}}{dx} + c$
 $= \frac{m}{14} \cdot 3x^2 + c$

 $\therefore y = \frac{3m}{14}x^2 + c$ i.e the required second degree function is $y = \frac{3m}{14}x^2 + c$

Likewise, the third degree function is:

 $y = \frac{4m}{98}x^3 + c$

Similarly, when z = 2 i.e., for function $y = mx^2 + c$ On applying above method for the function $y = mx^2 + c$, within the boundary (0 - 7) the first three functions giving same result on integration are:

1.
$$y = mx^{2} + c$$

2. $y = \frac{4m}{21}x^{3} + c$
3. $y = \frac{5m}{147}x^{4} + c$

2.1 Checking if Determined Functions are True or False

(1) y = mx + cSolution: $Area = \int_0^7 y.dx$ $\Rightarrow Area = \int_0^7 (mx + c).dx$ $\Rightarrow Area = m \left[\frac{x^2}{2}\right]_0^7 + 7c$ $\therefore Area = 24.5 \times m + 7c$ (which is true) (2) $y = \frac{3m}{14}x^2 + c$ Solution: $Area = \int_0^7 y.dx$ $\Rightarrow Area = \int_0^7 (\frac{3m}{14}x^2 + c).dx$ $\Rightarrow Area = \frac{3m}{14} \left[\frac{x^3}{3}\right]_0^7 + 7c$ $\therefore Area = 24.5 \times m + 7c$ (which is true) (3) $y = \frac{4m}{98}x^3 + c$

(2)

Solution:

 $Area = \int_0^7 y.dx$ $\Rightarrow Area = \int_0^7 (\frac{4m}{98}x^3 + 2.5).dx$ $\Rightarrow Area = \frac{4m}{98} \left[\frac{x^4}{4}\right]_0^7 + 7c$ $\therefore Area = 24.5 \times m + 7c \text{ (which is true)}$

3. Determination of Relation Between Functions

First, three functions giving same result on integration of function $y = mx^1 + c$ are:

1.
$$y = mx + c = \frac{2m}{2}x + c = \frac{2}{\frac{2}{m}}x + c$$

2. $y = \frac{3m}{14}x^2 + c = \frac{3}{\frac{14}{m}}x^2 + c$
3. $y = \frac{4m}{98}x^3 + c = \frac{49}{\frac{29}{m}}x^3 + c$

Now, taking only denominator part of above functions, we get: $\frac{2}{m}, \frac{14}{m}, \frac{98}{m}, \dots$, in G.P.

$$T_n = a \cdot r^{n-1}$$

$$T_n = \frac{2}{m} \cdot 7^{n-1}$$
again, $y = \frac{(n+1) \cdot m}{\frac{2}{7} \cdot 7^n} x^n + c$

$$y = \frac{(n+1) \cdot m \cdot 7^{1-n}}{2} x^n + c$$

Since, difference of boundaries is 7 i.e 7 – 0 = 7, let us denote 7 in above relation by $\triangle N$ for general. then above relation can be written as,

 $y = \frac{(n+1).m.(\triangle N)^{1-n}}{2}x^{n} + c.$

Thus, relation is found as:

$$y = \frac{(n+1).m.(\Delta N)^{1-n}}{2}x^n + c$$
(1)

Similarly, first three functions giving same result on integration of function $y = mx^2 + c$ are:

1.
$$y = mx^{2} + c = \frac{3m}{3}x^{2} + c = \frac{3}{\frac{3}{m}}x^{2} + c$$

2. $y = \frac{4m}{21}x^{3} + c = \frac{4}{\frac{21}{m}}x^{3} + c$
3. $y = \frac{5m}{147}x^{4} + c = \frac{5}{\frac{147}{m}}x^{4} + c$

Now, taking only denominator part of above functions, we get: $\frac{3}{m}, \frac{21}{m}, \frac{147}{m}, \dots$, in G.P.

с

$\therefore T_n = a.r^{n-2}$

Here, instead of using (n - 1) we have used (n - 2). It is because in the above mentioned list of functions the power of variable x starts to increase from 2 and also in this G.P: n = 2, 3, 4, ...

$$\Rightarrow T_n = \frac{3}{m} \cdot 7^{n-2}$$
again, $y = \frac{(n+1) \cdot m}{\frac{3}{7^2} \cdot 7^n} x^n + c$

$$\Rightarrow y = \frac{(n+1) \cdot m \cdot (\Delta N)^{2-n}}{3} x^n + c$$

$$\Rightarrow y = \frac{(n+1) \cdot m \cdot (\Delta N)^{2-n}}{3} x^n + c.$$
Thus, relation is found as:
$$y = \frac{(n+1) \cdot m \cdot (\Delta N)^{2-n}}{3} x^n + c$$

From above relations (1) and (2), we can derive more general relation as:

 $y = \frac{(\Delta N)^{(\xi-n)}.(1+n).m.x^n}{(\xi+1)} + c$

 $\Rightarrow y = (\triangle N)^{(\xi-n)} . (1+n) . m . (\xi+1)^{-1} . x^n + c$ where, ξ = degree of variable in original function.

Thus, the required relation between functions is found to be: $y = (\Delta N)^{(\xi-n)} \cdot (1+n) \cdot m \cdot (\xi+1)^{-1} \cdot x^n + c$

3.1 Checking if Determined Relation is True or False

Let us suppose the original function,

$$y = \frac{5}{x^4} + 2.5 = 5x^{-4} + 2.5 \tag{3}$$

now using above determined relation, let's determine the function of power 8 within the boundary (0 - 9.78): here, given:

 $\Delta N = 9.78 - 0 = 9.78$ $\xi = -4$ n = 8 m = 5 c = 2.5now, we have $y = (\Delta N)^{(\xi - n)} \cdot (1 + n) \cdot m \cdot (\xi + 1)^{-1} \cdot x^{n} + c$ $\Rightarrow y = (9.78)^{(-4-8)} \cdot (1 + 8) \cdot 5 \cdot (-4 + 1)^{-1} \cdot x^{8} + 2.5$ $\Rightarrow y = \frac{-45}{2.30 \times 10^{12}} x^{8} + 2.5$

therefore, the required function is:

$$y = \frac{-45}{2.30 \times 10^{12}} x^8 + 2.5 \tag{4}$$

Similarly, let's determine the function of power -2 within the boundary (0 - 9.78):

here, given:

 $\Delta N = 9.78 - 0 = 9.78$ $\xi = -4$ n = -2 m = 5 c = 2.5now, we have $y = (\Delta N)^{(\xi-n)} . (1 + n) . m . (\xi + 1)^{-1} . x^{n} + c$

 $\Rightarrow y = (9.78)^{(-4+2)} \cdot (1-2) \cdot 5 \cdot (-4+1)^{-1} \cdot x^{-2} + 2 \cdot 5$ $\Rightarrow y = \frac{5}{286.95} x^{-2} + 2 \cdot 5$

therefore, the required function is:

$$y = \frac{5}{286.95}x^{-2} + 2.5\tag{5}$$

Again, let's determine the function of power $\frac{9}{5}$ within the boundary (0 – 9.78): here, given:

 $\Delta N = 9.78 - 0 = 9.78$ $\xi = -4$ $n = \frac{9}{5}$ m = 5c = 2.5

Now, we have

$$y = (\Delta N)^{(\xi-n)} \cdot (1+n) \cdot m \cdot (\xi+1)^{-1} \cdot x^n + c$$

$$\Rightarrow y = (9.78)^{(-4-\frac{9}{5})} \cdot (1+\frac{9}{5}) \cdot 5 \cdot (-4+1)^{-1} \cdot x^{\frac{9}{5}} + 2.5$$

$$\Rightarrow y = \frac{-14}{9.78^{\frac{29}{5}} \times 3} x^{\frac{9}{5}} + 2.5$$

therefore, the required function is:

 $y = \frac{-14}{1663744.42} x^{\frac{9}{5}} + 2.5 \tag{6}$

Integrating functions (3), (4), (5) and (6) and seeing the result if they give same or not!

(1) $y = 5x^{-4} + 2.5$ Solution: Area = $\int_{0}^{9.78} y.dx$ $\Rightarrow Area = \int_{0}^{9.78} (5x^{-4} + 2.5) dx$ $\Rightarrow Area = 5 \left[\frac{x^{-3}}{-3}\right]_{0}^{9.78} + 2.5 \times 9.78$ Area = 24.45(2) $y = \frac{-45}{2.30 \times 10^{12}} x^8 + 2.5$ Solution: $Area = \int_0^{9.78} y.dx$ $\Rightarrow Area = \int_{0}^{9.78} (\frac{-45}{2.30 \times 10^{12}} x^8 + 2.5) dx$ $\Rightarrow Area = \frac{-45}{2.30 \times 10^{12}} \left[\frac{x^9}{9}\right]_0^{9.78} + 2.5 \times 9.78$: Area = 24.45 (3) $y = \frac{5}{286.95}x^{-2} + 2.5$ Solution: Area = $\int_{0}^{9.78} y.dx$ $\Rightarrow Area = \int_0^{9.78} (\frac{5}{286.95} x^{-2} + 2.5) dx$ $\Rightarrow Area = \frac{5}{286.95} \left[\frac{x^{-1}}{-1} \right]_{0}^{9.78} + 2.5 \times 9.78$: Area = 24.45 (4) $y = \frac{-14}{166374442} x^{\frac{9}{5}} + 2.5$ Solution: Area = $\int_{0}^{9.78} y.dx$ $\Rightarrow Area = \int_0^{9.78} (\frac{-14}{1663744.42} x^{\frac{9}{5}} + 2.5).dx$ $\Rightarrow Area = \frac{-14}{1663744.42} \cdot \frac{5}{14} \left[x^{\frac{14}{5}} \right]_{0}^{9.78} + 2.5 \times 9.78$: Area = 24.45

Since, the integration of functions (3), (4), (5) and (6) within the same boundary gave same result.

Therefore, we can conclude that the relation we derived is true.

4. Possible Work

The main drawback of this work is that for: $\triangle N$ = upper bound - lower bound, the lower bound must always be equal to zero. I am still in the process to make this work more elegant and vast. But, if lower bound is not equal to zero, we can solve by alternative method using following relation:

$$\int_{L}^{U} y dx = [(U)^{(\xi-n)} \cdot (1+n) \cdot m \cdot (\xi+1)^{-1} \cdot \int_{0}^{U} x^{n} dx + U \times c] - [(L)^{(\xi-n)} \cdot (1+n) \cdot m \cdot (\xi+1)^{-1} \cdot \int_{0}^{L} x^{n} dx + L \times c]$$

NOTE:-In above relation: U = Upper Bound L = Lower Bound

Example:: Let us suppose a function,

$$y = 2x^9 + 12$$
 (7)

Now, using above relation let's determine the function of power 5 within the boundary (4 - 15):

Solution, here:

U = 15 $\xi = 9$ n = 5 m = 2 L = 4 c = 12now, we have $y = [(U)^{(\xi-n)}.(1+n).m.(\xi+1)^{-1}.x^n + c] - [(L)^{(\xi-n)}.(1+n).m.(\xi+1)^{-1}.x^n + c]$ $\Rightarrow y = [(15)^{(9-5)}.(1+5).2.(9+1)^{-1}.x^5 + 12] - [(4)^{(9-5)}.(1+5).2.(9+1)^{-1}.x^5 + 12]$ $\Rightarrow y = [60750.x^5 + 12] - [\frac{1536}{5}.x^5 + 12]$

$$y = [60750.x^5 + 12] - [\frac{1536}{5}.x^5 + 12]$$
(8)

Now, integrating functions (7) and (8) and seeing the result if they give same or not! (1) $y = 2x^9 + 12$

Solution: $Area = \int_{4}^{15} y.dx$ $\Rightarrow Area = \int_{4}^{15} (2x^{9} + 12).dx$ $\Rightarrow Area = 2\left[\frac{x^{10}}{10}\right]_{4}^{15} + 12 \times (15 - 4)$ $\therefore Area = 1.15 \times 10^{11}$ (2) $y = [60750.x^{5} + 12] - [\frac{1536}{5}.x^{5} + 12]$ Solution: $\int_{4}^{15} y.dx = \int_{0}^{15} (60750.x^{5} + 12).dx - \int_{0}^{4} (\frac{1536}{5}.x^{5} + 12).dx$ $\Rightarrow Area = 60750 \left[\frac{x^{6}}{6}\right]_{0}^{15} + 12 \times 15 - \frac{1536}{5} \left[\frac{x^{6}}{6}\right]_{0}^{4} - 12 \times 4$ $\Rightarrow Area = 1.15 \times 10^{11}$ $\therefore Area = 1.15 \times 10^{11}$

Since, the integration of functions (7) and (8) within the same boundary gave same result.

Therefore, we can conclude that the alternative relation is true.

5. Conclusion

Thus, we successfully determined different functions of different degree when area and boundaries are provided. we also determined the relation between number of functions and it is found to be:

$$y = (\Delta N)^{(\xi - n)} . (1 + n) . m . (\xi + 1)^{-1} . x^{n} + c$$

Acknowledgements

I am very thankful to Prof.Dr.Kedar Nath Uprety, Tribhuvan University, Nepal for his thorough review as well as valuable comments and suggestions as a referee of this paper.

References

Weir, Maurice., & Hass, Joel. (2016). THOMAS' CALCULUS (Twelfth Edition), Pearson India Education Services Pvt.Ltd.

Joshi, J. M. C. (1997). Recent Studies Integral Transforms, Journal of Natural and Physical Sciences, 2, 65-78.

Li, Yue-Xian. (2004). Lecture Notes on Integral Calculus, The University of British Columbia.

mc-ty-inverse-2009-1. (2009). Inverse Functions, www.mathcentre.ac.uk.

Copyrights

Copyright for this article is retained by the author(s), with first publication rights granted to the journal.

This is an open-access article distributed under the terms and conditions of the Creative Commons Attribution license (http://creativecommons.org/licenses/by/4.0/).